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6.
of software.

7.

8.

9.

Which of the following are correct?

A BIOS is used to find the operating system and to load its kernel into
memory for execution

B BIOS is a firmware that contains the startup instructions
C BIOS is a basic input/output system
D BIOS is stored in the hard disk.

Which of the following are correct?

A Hash technique is used for sorting

B The operation of Queue is First In First Out

C The operation of Stack is First In Last Out

D An array is useful for frequent insertion and deletion.

Code reusability, interoperability, and portability are factors important to the

A. operability

B. maintainability.
C. transferability
D. longevity.

Which of the following is a binary operator?
A. select
B. update
C. difference
D. all of the above
Accuracy, efficiency, reliability, security, timeliness, and usability are factors
importanttothe _ of software.
A. operability
B maintainability.
C. transferability
D. longevity.

In an abstract data type,
the ADT implementation is known
the ADT implementation is hidden
the ADT functions are hidden
none of the above

COowr



10. Ifthere are 16 nodes to be stored in a binary tree, the minimum height of the
tree is
1

OCaowp
)—l-htho\l

WHEE- AR (60 o)
1. CPU #*% it %44 RISC Av CISC Wi
a. RELHEP ~HEXLME - (4%)
b. RAEBEEE A HiE - REZEEH - (6%)

2. CPU Scheduler — %% 4% Long-term, Medium-term A& Short-term
scheduler, R4y AEAZEE R - (10%)

3. Please describe the four primary functions of an operating system. (10%)

4,
a. What is the difference between a depth-first traversal and a breadth-first
traversal of a binary tree? (5%)
b. What is the difference between a depth-first traversal and a breadth-first
traversal of a graph? (5%)
5.

Discuss the three loop statements in the C language. (10%)

a. What is the difference between a frame and a packet? (5%)
b. What is the purpose of a synchronization point? (5%)
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